
№ Артикул Наименование Примечание Кол-во

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

37
36

38
39
40
41
42
43
44
45
46
47
48
49
50
51

53
54
55
56
57
58
59
60
61
62

919-777-004

919-777-006
919-777-005

919-777-010
919-777-011

919-777-013

919-777-018

919-777-022
919-777-021
919-777-020

919-777-023

919-777-025

919-777-037

919-777-045

919-777-050

919-777-047

919-777-049

Винт
Винт
Корпус двигателя
Щеткодержатель
Щетка графитовая
Крышка щеткодержателя
Шильда
Винт
Подшипник
Якорь
Статор
Винт
Кольцо уплотнительное
Винт
Бак масляный
Емкость
Гайка
Кольцо стопорное
Винт
Шайба
Подшипник шариковый
Прокладка
Магнит
Подшипник
Кольцо уплотнительное
Шнур сетевой
Резинка шнура сетевого
Ручка
Винт

Винт
Зажим шнура сетевого

Упор ручки

Винт
Винт

Шарик
Винт

Комплект деталей (поз 37-42)

Винт
Цилиндр
Кольцо уплотнительное
Пружина большая
Поршень большой
Винт
Шпонка

Комплект деталей (поз 50-52)
52

919-777-053
919-777-054

919-777-056

Прокладка бумажная
Кольцо уплотнительное
Головка
Нож
Винт
Винт
Гайка
Винт
Винт
Подшипник

М5х30
М5х10

М4х10

М5х65

М6х45

М10

М10х25
φ34.5х1

φ34.5х1
φ15х5

φ85х8

φ28 

M4x10

M4x15
M4x20
M4x33

φ5

M8x45

M4x15
40x12х11

40x30х15

φ55x12

M8x25
M8x35

M16
M16x50
M6x30

4
2
1
2

пара
2
1
2
1
1
1
2
1
4
1
2
2
3
2
1
1

1

1

1
3
1

1

2
2

1
2
4
2
1
3
1

1

2
1
1
1
1
1
1

1
1
1

1

2
2
2
1
1

21
1

Арматурорез

Страница 1

Модель
АР 32-2000

Артикул
919-777


